PNP DARLINGTON TRANSISTOR

HP147TS

. Ta=25 TO-220

Tstg__ -55~150 , F
T—— 150 2

P— T=25 7T0W v

Vcgo—— — -100V 1— B

Vceo — -100V 2— C

Veso— = — 5V = E

lc—— -8A

Ig -0.5A

B T=25

VICEO sus — -100 \% 1c=-30mA, 18=0

Iceo — -2 mA | Vce=-50V, 18=0

IcBo — -1 mA | Vce=-100V, 1e=0

[2:10) — -2 mA | Ves=-5V, Ic=0

HFE(1) 1000 Vce=-4V, Ic=-0.5A

HFE(2) 1000 Vce=-4V, lc=-3A

V/CE(sat) — -2 V Ic=-5A, I8=-10mA
-3 % Ic=-10A, I8=-40mA

VBE(sat) — -3.5 % Ic=-10A, I8=-40mA

V/BE(on) — -3 V Vce=-4V, lc=-10A

to 0.15 M S

TR 0.55 M S Vce=-30V, lc=-5A

ts 2.5 M-S 18=-20mA IB1= IB2

tr 2.5 M S
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